
Page 1 of 5 

-- OBV-100AK –– 
BEACH VOLLEYBALL ANCHOR KIT 

Installation Instructions 

Call Jaypro Sports Equipment at 1-800-243-0533 during regular 
business hours for technical support. 

www.jaypro.com 

http://www.jaypro.com/


    Page 2 of 5 

OBV100AK  
PARTS LIST (QTY: SINGLE UNIT) 

 
 
  IMAGE DESCRIPTION QTY 

 

(1) INSERT ANCHOR  
 (P/N: OBV100-C) 2 

 

(2) STAKE FLAG 4'' x 5'' YELLOW 
(P/N: HM6633)  2 

 

(3) PLASTIC CORD GRIP 1/4''NPT 
(P/N: HM6634) 2 

 

(4) PLASTIC NUT, 1/4''NPT 
(P/N: HM6635) 2 

 

(5) 1/2" WASHER FLAT STD, SS 
(P/N: HW5025) 2 

 

(6) BLACK VINYL CAP 
(P/N: EC0069) 2 

 

(7)  5/8" x 18'' L-HOOK ANCHOR BOLT  
(P/N:  SR5562) 8 

 

(8)  5/8'' FLAT WASHER  
(P/N:  HW5072) 8 

 

(9)  5/8-11 HEX NUT 
(P/N:  HN5087) 12 

IMAGE DESCRIPTION QTY 



    Page 3 of 5 

Anchor Kits: 
Model OBV-100AK – Insert Anchor 

 An inverted design that elements the potential of sand and water contamination that can make removal 
difficult.   

 Anchor is completely removable.   
 Provided with a cap and identifying flag to safely identify its location beneath the sand.    

 

 
 

 
Upright Installation and Removal:  
To install the poles, totally clean away all sand from around the anchor.  Wipe down the anchor stem and apply a light 
coating of anti-seize lubricant or grease.  After pole is installed backfill the area with sand.    
 
To remove the pole, total dig away the sand surrounding the base.  Slide the pole off the anchor stem.  Cap-off the 
anchor stem with the cap and flag provided.     

 
  

OBV-100AK 
Insert Anchors 



    Page 4 of 5 

 
 
WHENEVER THE GROUND INSERT (6) IS NOT IN USE, IT SHOULD REMAIN COVERED WITH THE MARKER FLAG BOTH 
TO ENSURE THAT THE INSERT ISN'T FILLED WITH SAND AS WELL AS TO INDICATE THE LOCATION OF THE INSERT. 
 
PROCEDURE 
1. INSERT CORD GRIP (3) INTO TOP CAP (1). 
2. INSTALL WASHERS (5) AND NUT (4). 
3. INSERT STAKE FLAG (2) INTO CORD GRIP (3) SUCH THAT THERE IS SOME OF THE RUBBER SLEEVE IS 

EXPOSED. 
4. TIGHTEN NUT ON CORD GRIP UNTIL THE FLAG NO LONGER SLIDES IN GRIP. 
SLIDE CAP OVER GROUND INSERT AND BURY WITH SAND. 

 
 

 
  



    Page 5 of 5 

 

 
 

 
FOOTING DETAIL 

(OPTIONAL ANCHOR KIT PN/: OBV-100AK) 
 

FOR THE MOST VERSATILE FACILITY, ITS RECOMMENDED TO INSTALL POLES 36'-0"  
FROM EACH OTHER TO ALLOW FOR BOTH COMPETITION AND RECREATIONAL PLAY. 

 
* 


